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- @EX DAL 2
6,000,0002 * 1 6,000
202 04l 2,000 3,600 A1,600
01 =foid| 2,000 3,600 A1,600
O Bte & 54 £TAN 23
50,0008 * 201 * 203 2,000
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SN BN
HE: aTEy BEYL
ool E 2 (25 & 2)
_ _ HEC
SA - SRAEA) - MM - BES Off & K Ofl At ot Hws2
307 eI2tolH 7,200 12,000 A4,800
05 RIRSIES 7,200 12,000 4,800
O ®SX DAELM 22l 9
600,008 * 122 7,200
401 Al&HI L2 O] 100,000 0 100,000
01 Al&H] 100,000 0 100,000
O ®SX +MAS(HHZ ) AT
100,000,008 * 14} 100,000
Melstamel Alazel 28,930 22,350 6,560
201 sy 13,130 14,550 A1,420
01 ArR el 4,380 5,800 21,420
O gurg| 2,700
- ®EZ B2IC BREY 2
10,0008 * 3074 300
- HIE MADRIY 2HB| £42
200,008 * 122 2,400
O 2zl 1,680
- 24 Y HEFGHE 22X 4
7,000 * 321 + 802 1,680
0 ZZ=2YY 8,750 8,750 0
O 2223 2 WAl 8,750
- HHEHA QYRS RBR3
3502 * 25,00004 * 11 8,750
202 oft 4,800 4,800 0
01 =Lioit] 4,800 4,800 0
O 24HelAE EIAN L NEH
20,0002 * 491 * 602 4,800
206 Tl 1,000 3,000 A2,000
01 =t 1,000 3,000 2,000
O 2+A2 WHED 1,002 * 1,00004 1,000
207 oLl 10,000 0 10,000
NBEEEET] 10,000 0 10,000
O BEu4+TLH44E BT (8)
10,000,008 * 13| 10,000
IEsFA &3 122,000 200,000 78,000
= 51,000
Al 71,000
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SN AN
Hal: 2HY S
ool 2T CEEED
SN HR L SR(3) - MRAY - BAS 0l & 24 e HlnE2
401 ASHILLHY 122,000 200,000 78,000
= 51,000
Al 71,000
01 A& 122,000 200,000 78,000
O HC2M0IEFA &% 50,000,000 * 14 50,000
= 15,000
Al 35,000
O YBAZ ZEHIA 24
36,000,008 * 14! 36,000
= 18,000
Al 18,000
O BLYAFIY TEAZA H2s
36,000,008 * 14! 36,000
= 18,000
Al 18,000
ATHZE S Z N4 CH 2 100,000 100,000 0
| 50,000
Al 50,000
207 ANl 100,000 100,000 0
| 50,000
Al 50,000
NEEEET 100,000 100,000 0
O +XyzYyVe AT
100,000,000 * 14} 100,000
p] 50,000
Al 50,000
MOIBt = HRlAlE HXIX & 297,600 0 297,600
= 186,000
= 37,200
Al 74,400
402 QUAXZOIF 297,600 0 297,600
=2 186,000
= 37,200
Al 74,400
01 2IAN=ELE 297,600 0 297,600
O Molgt£FalAlE & X
297,600,0002 * 14] 297,600
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2AM:

SRk

&
M8
R EERS
A

e

=2
M
12

186,000
37,200
74,400

o
0
2

62,960
16,128
46,832

68,340

/5,380

7,520

13,000

N5,480

2,520

2,000

520

2,520

2,520

2,520

2,000

520

5,000

4,400

600

5,000

5,000

4,400

600

55,440
16,128
39,312

55,340

100

53,760
16,128
37,632

53,760

c2NSES

o

53,760
53,760

16,128
37,632

53,760

1,680

1,580

100

=
M

2
<
Al
<
Al
7,000& = 4¢1 x 90
Al I A
200,000& = 25¢!
<
Al
<
Al
53,760,000& * 124
S
Al
=t
30,0008 * 280K
(22X, ENIS
30,0008 * 289!

1,680

840

840
840

840

1,160

520

o
=

0z
i
o

63,460

133,960

A70,500

[wml
=
J

A

63,460

133,960

270,500
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SN AN
Mz M4BT 2ol
Sl IR 2ol CEEED
_ _ SIEN
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
s 22l 22,280 68,600 £46,320
201 Ygreg| 17,480 62,700 ~45,220
01 ARzt 1,680 8,000 6,320
O 2| 1,680
- BEJA BUAAYR ST
7,00020 * 391 * 80 1,680
00 BT 15,800 54,700 38,900
O 2222 % HA 14,600
- BHEDIA HUBMGUS(SES) 2
SHRZ 3502 * 10,0002 * 43| 14,000
- ASEFIIY NSAWENAID G
AN 242 300,0002 * 204 600
O AN&FHISX b 1,200
- WEX EIA SHEY 42l
200,008 * 2CH * 33l 1,200
202 Ofl 3,600 3,600 0
01 =Loit] 3,600 3,600 0
O mlegs 2l ¥ NS
20,0008 * 321 * 602 3,600
206 Tl 1,200 1,800 A600
01 =t 1,200 1,800 600
O S HWENA HESH AQE
300,00020 * 204 * 23] 1,200
HISHY 2 E2HBT 29 41,180 65,360 ~24,180
201 greg| 17,220 34,400 ~17,180
02 =ZZ=YL| 17,220 34,400 A17,180
O 2222 2 HA 13,220
- UIHEE ®IIR3 ¥ ME8IMR
380,0008 * 24 * 128 9,120
- HIINESRY IR U H2H
2 300,008 * 128 3,600
- WIILYEIY 2HE
500,008 * 144 500
O AN&ZHISYI 4,000
-l EEEE B
2,000,0008 * 2944 4,000
206 T2l 5,000 12,000 A7,000
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SN BT
Mz M4BT 2ol
Sl IR 2ol CEEED
_ _ _ Muo
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
01 =l 5,000 2,000 7,000
O HIIQYSHY A28
5,000,0008 * 11 5,000
307 el2tolH 18,960 18,960 0
05 RIRSIE3 18,960 18,960 0
O HIIYSZ YDl 2I2E
1,580,008 * 128 18,960
RRRCIEERESE 97,370 154,100 56,730
SIMAHIA SEEHA 57,370 114,100 56,730
HEE AMBEEY 16, 150 45,040 28,890
201 L2yl 6,000 8,000 A2,000
01 AFRarelt] 6,000 8,000 22,000
O Ys+gY| 6,000
- oMY ADE MA S
2002 * 10,0000H 2,000
-9 SYME 222 ME
2002 * 5,00000 * 43l 4,000
202 OfHl 4,000 15,040 A11,040
01 =Lioit] 4,000 15,040 A11,040
O 93 2YAME ssoz
10,0008 * 491 * 103 4,000
301 YuBAZ f,150 3,500 A2,350
12 JlEEA= 1,150 3,500 2,350
O ZRE BHNUIAN UE 24
5,000 * 3021 150
O 2 STAE SI8AD B4
10,0002 * 1021 1,000
307 PI2t0lH 5,000 10,000 5,000
02 PABNBE 5,000 10,000 5,000
O 2EAMDS 2N
5,000,0002 * 11 5,000
M4 22| Y X 37,220 60,560 £.23,340
201 L2yl 37,220 42,260 A5,040
01 Ar=aelb] 37,220 42,260 5,040
O si+gY| 31,900
- QUM HET R
110,0008 * 209! 2,200
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S AN
Hal: S SME

L

XA

e
ol PIMAHIA SESA (25 & 2)
_ _ _ Muo
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ol At oH Hws2
- NEHMIYAL SAAB M ME
10,0008 * 500 5,000
- DUSAF BT M
10,0002 * 3074 3,000
-JIEES A dFYL ARE X
70,0008 * 2507H A 17,500
-JI2ES A HE ME
140,0002 * 307K A 4,200
O 2944 1,960
- JI2E2 AFA AAMY 2
70,0008 * 791 * 43 1,960
O 2| 3,360
- MESMAL KESES
7,00080 * 421 = 108 * 122 3,360
SARE HHAY 4,000 8,500 A4,500
201 Lur2 Yyl 4,000 8,500 A4,500
01 At el 4,000 8,500 A4,500
O Yurg| 4,000
- SARSNM DHLH R
8002 + 5,00004 4,000
SEIZEN N 40,000 40,000 0
SEIEEH HSIHARH 29 40,000 40,000 0
307 eI2t0|H 40,000 40,000 0
04 BIABAIBE 40,000 40,000 0
O o2HREH 29 40,000,000 * 13l 40,000
HHS AL (HFAND) 129,932 38,432 91,500
o1z 2| 106,732 19,200 87,532
o1z 2| 106,732 19,200 87,532
101 Q14| 89,932 0 89,932
02 +¢ 89,932 0 89,932
O ANZe2R4y
745720 « 67TAI2F % 2001 * 128 * 0.75 89,932
203 AREXY| 4,200 4,200 0
4 SN2IYLFAY| 4,200 4,200 0
O #3294 DH(3001013}) 350,008 * 128 4,200
204 ML 12,600 15,000 A2,400
IIEEEEEESEN 1,200 1,200 0
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SN BN
HEl: HNSAAY (BB SIMD])
chel: ozl 2yl (649 &2
_ _ _ Muo
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
O nua 10,0008 * 191 * 122 1,200
03 SHARL S| 11,400 13,800 A2,400
O terg syl 50,0002 * 1991 * 122 11,400
PN 23,200 19,232 3,968
=3l 23,200 19,232 3,968
201 er2g| 23,200 19,232 3,968
01 At 2tel| 11,400 14,832 13,432
O gersgl| 6,120
- N2 REE(HBYBI4E)
12,0008 * 55 * 128 720
- SASX PY 200,008 * 128 2,400
- LIRS JIIZAREE
250,008 * 128 3,000
O Uz 5,280
- ARI1J1(Z2lED])
110,0002 * 4CH * 122 5,280
02 B2 11,800 4,400 7,400
O 2222 2 AAl 1,000
- ASTH S 22 1,000,008 * 11 1,000
O AN&ZHISTY 7,200
- BASAMEHOIX el
500,0008 * 122 6,000
- =MD RXIZE 10,0008 * 122 1,200
O ey 3,600
- HEXY 3,600,0008 * 14 3,600
NEETCEE D 42,000 42,000 0
TED D 42,000 42,000 0
eSS 42,000 42,000 0
309 BIILINTED 42,000 42,000 0
NIEEEEEEEEREES) 42,000 42,000 0
O 2YSAX NFYL +E23 2
35,0002 * 100044 * 128 42,000
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2N SEMD
HH: sAAY Y5
el AEHAC S4 (el &2)
SA-EH O (BI) - HRAY - BES Ofl AF o4 glggi; HRz2
SEL 43,406,208 35,557,654 7,848,554
2 15,673,921
s 2,125,500
Il 870,003
= 567,120
& 7,609,251
Al 16,560,413
SAFWY B3 26,378,054 20,497,579 5,880,475
= 8,920,504
s 2,048,000
| 624,128
2 567,120
< 4,126,333
Al 10,091,969
FEEHE 54 11,414,669 11,657,797 A243,128
= 8,550,304
= 1,410,151
Al 1,454,214
IS MMTA 498,530 2,266, 165 AN1,767,635
201 LEH23H] 34,480 34,960 A 480
EEEE 34,480 34,960 2480
O gergH| 9,980
- MOISEIEM 29 94S0SHE
80,000& * 64 480
- AEY SHAHE R
10,000& * 250% 2,500
- SEAIABUEN L MBI KB
10,0002 * 700% 7,000
O =l 13,020
- SHAR EZTZA
,000& * 3121 = 5 « 12& 13,020
O 294y 11,480
- =MUNACE B 4
70,0003 * 232! * 23| 3,220
- AEYsYSHIAE 2Y
70,000& * 20Q! * 23| 2,800
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SH: sEAD
HE: =AM A
Ol HESUC =4 (619 &2l
_ _ HEC
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ol At oH Hws2
e VP EECEE PN
o 70,0008 * 1021 * 23] 1,400
- SYUFEIIS2YAVE HHLY
70,0008 * 1021 * 23] 1,400
- SSASZEABAAOAS EHA
At 70,0008 * 1921 * 23] 2,660
202 OiHl 4,000 0 4,000
01 =Lfoid| 4,000 0 4,000
O HOSEIYA NRELAY A
20,0008 * 291 * 1002 4,000
203 AREXY| 2,000 1,000 1,000
03 NHEZMNAL=| 2,000 1,000 1,000
O 2elsHe 225 4253
2,000,000% * 1 2,000
206 Mzl 30,375 29,500 875
EEE] 30,375 29,500 875
O FEIIAL 2508 * 37,500 9,375
O oHl2x2l &X 3,500 * 4,0004 Xt 14,000
O HoX S HSHLH 54X &
70,0002 + 100ha 7,000
301 YB3 310,675 216,525 94, 150
10 SAAEISAS 8,075 3,625 4,450
O ZT[YISH +HBAR DS
7,00021 * 7250! 5,075
O #EYs =043 &A
3,000,008 * 13| 3,000
12 JlER AR 302,600 212,900 89,700
O HOISEIZM DM XY
300,008 * 1,000ha 300,000
O SHAM LLSHE Al 2,600
- H24 700,008 * 1SS 700
- 24 500,008 * 2SS 1,000
- Ze 300,0008 * 3RS 900
307 QI2t0IF 5,000 0 5,000
02 NANEZE 5,000 0 5,000
O MsASANY HAX A
100,000 * 5001 * 13 5,000
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SN SELD
M AW U3
CHel: HESUC R4 (S92l
_ _ _ Muo
SA-HH . C(B) - MRAY - BES 0f Ak o4 Sl ko HRE2
402 SIZ2HX =0l 112,000 1,984,180 A 1,872,180
01 QtA=8x 112,000 1,984,180 A 1,872,180
O BBZE MATH (22, F0IUES)
750,000& * 100ha * 80/100 60,000
O AgA=ANT ¢ olE 28I X
650,0002 * 100CH * 80/100 52,000
DSEH At 24 370,000 600,375 A230,375
& 126,000
Al 244,000
402 YIAX0IH 370,000 600,375 £230,375
< 126,000
Al 244,000
01 BI2ZEXI=22 X 370,000 600,375 A~ 230,375
O HEsSsEE 4X 120,000,000& * 14! 120,000
< 36,000
Al 84,000
O S92 HOISEX Z8(BUEX)
100,000,000& = 14! 100,000
= 30,000
Al 70,000
O IEZ HAZT HRALAL
150,000, 000& = 14! 150,000
< 60,000
Al 90,000
s E X =2 245,335 260,250 A 14,915
= 245,335
301 Lptsazg 245,335 260,250 A 14,915
= 245,335
12 JIEt243 245,335 259,900 A 14,565
O HBB=Y XEX S A (450a)
245,335,000& * 14 245,335
= 245,335
ASEMANZX S ALY 6,325,442 6,426,367 A 100,925
= 6,325,442
202 OdHl 4,442 4,567 A125
= 4,442
01 =LHAHI 4,442 4,567 A125
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FAM: sS4
M oA Yl
Chol: HESUC A (ctel g
SA - EB O (S) - MRAY - HAS Ol e H RS2
S EEEEERETES
4,442,0002 * 14! 4,442
& 4,442
301 YBtEAE 6,321,000 6,421,800 A 100,800
= 6,321,000
12 JIEIE A3 6,321,000 6,421,800 A100,800
O HASEM HNEXESAS
6,321,000,000& * 14 6,321,000
= 6,321,000
o= XA 28,698 33,320 N4,622
= 16,368
& 3,699
Al 8,631
402 QIZEXE01H 28,698 33,320 N4, 622
= 16,368
& 3,699
Al 8,631
01 BIZEXI=22 X 28,698 33,320 N4,622
O HHEBE HELHAILY
28,698,000& * 14 28,698
= 16,368
= 3,699
Al 8,631
ELHEH K& 550,267 600,000 249,733
= 460,297
& 44,985
Al 44,985
402 QIEXE01M 550,267 600,000 A49,733
= 460,297
& 44,985
Al 44,985
01 QIZEXI=22 X 550,267 600,000 249,733
O ELMBHEB 550,267,000 * 14 550,267
= 460,297
= 44,985
Al 44,985
TA2d NG HER=2 105,517 102,722 2,795
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2N SEMD
HE: SolAMe st
el YESMCE sS4 (5l &2
SN EB - SRA(3) - MRAY - BES 0 & 24 Cl= HRE2
Off &K
ZAZANAXHX 2 = 73,862
= 9,497
Al 22,158
202 Ofl 5,517 2,722 2,79
= 3,862
= 497
Al {,158
01 =Loit] 5,517 2,722 2,79
O ZAZ2ANY HFNSALFZ
5,517,008 * 141 5,517
2 3,862
= 497
Al 1,158
01 YuBAZ 100,000 100,000 0
= 70,000
= 9,000
Al 21,000
12 JlE A= 100,000 100,000 0
O ZAZANY IR SAY
100,000,008 * 14 100,000
2 70,000
= 9,000
Al 21,000
2LEANSRLI(GPHE 29 110,000 85,000 25,000
= 55,000
Al 55,000
402 DIXHZ0IH 110,000 85,000 25,000
= 55,000
Al 55,000
IS 110,000 85,000 25,000
O 6P AIEXI 110,000,000 * 14! 110,000
= 55,000
Al 55,000
Z2S0HRI| A 13,500 54,000 £40,500
= 9,000
= 4,500
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2N SEMD
M AW U3
el AEHAC S4 (9l &3
SA-HH . C(B) - MRAY - BES 0f Ak o4 ggi HRE2
402 QIEXE01 M 13,500 54,000 240,500
= 9,000
= 4,500
01 QtR=8=x 13,500 54,000 240,500
O ZESIHTIIA 13,500,008 * 14} 13,500
= 9,000
= 4,500
d2d HlZ X3 1,044,000 0 1,044,000
2 1,044,000
402 PIZHRIZ0IH 1,044,000 0 1,044,000
= 1,044,000
01 QtR=Ex 1,044,000 0 1,044,000
O RIEBHZXA 1,044,000,000& * 14 1,044,000
= 1,044,000
RPCH R AL S A 159,600 0 159,600
= 129,600
= 9,000
Al 21,000
402 QIEE0IM 159,600 0 159,600
= 129,600
= 9,000
Al 21,000
EEFEEES 159,600 0 59,600
O DIBBEHIT SLXI (& ORRC)
159,600,000& * 14! 159,600
= 129,600
< 9,000
Al 21,000
Edset=s 4303 81,600 0 81,600
= 15,000
& 54,000
A 12,600
01 YBA2 81,600 0 81,600
= 15,000
& 54,000
Al 12,600
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2N SEMD
M AW U3
el AEHAC S4 (9l &3
SA-HH . C(B) - MRAY - BES Ofl AF o4 gg;ﬁ; HRE2
12 JIEt2 &3 81,600 0 81,600
O HBBSHSAZHHE X2
81,600,000& = 14! 81,600
2 15,000
= 54,000
Al 12,600
SHIHSEROUX 40,000 0 40,000
= 20,000
= 10,000
Al 10,000
402 QIZEXE0| M 40,000 0 40,000
= 20,000
& 10,000
Al 10,000
01 PIAR=EZE 40,000 0 40,000
O =HIZ2Z XX (116ha)
40,000,000 = 14l 40,000
= 20,000
< 10,000
Al 10,000
2=zel K& 2,200 0 2,200
= 2,200
202 01t 2,200 0 2,200
= 2,200
INEEEEL 2,200 0 2,200
O =2l dRFd 2,200,000& = 14l 2,200
= 2,200
=& 1,568,020 886,302 681,718
& 1,030,710
Al 537,310
01 YeBA2 48,020 1,200 46,820
= 14,710
Al 33,310
12 JIEt2 &3 48,020 1,200 46,820
O ABHHENZO0l A2
1,520,000 * 14 1,520
= 760
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SN SEND
Mo SR MY Y5
Celr HESMCS R4 (69l &9
SN HR L SR(3) - MRAY - BAS 0l & 24 e HlnE2
Al 760
O FHASKI X 46,500,002 * 14! 46,500
< 13,950
Al 32,550
402 SIZHXHZOIH 1,520,000 885, 102 634,898
= 1,016,000
Al 504,000
01 QIAT=RZE 1,520,000 885, 102 634,898
O B#Z2HY M=% HRNY
1,520,000,0008 * 14! 1,520,000
< 1,016,000
Al 504,000
S HsAXNES 271,960 343,296 A71,336
= 209,200
= 62,760
402 SIHXHZOIH 271,960 343,296 AT1,336
= 209,200
< 62,760
01 QIAT=RZE 271,960 343,296 A71,336
O HBASYNPEH AL
271,960,0008 * 14! 271,960
= 209,200
< 62,760
SAS MM RSPE JHM 5,782,046 4,762,325 1,019,721
= 2,048,000
p 7,888
= 1,148,432
Al 2,577,726
D420l S0t X 389,650 327,775 61,875
201 pr2oty| 7,000 0 7,000
01 ARzl 7,000 0 7,000
O 2l 7,000
- HEE A 7,0002 * 50001 + 23] 7,000
202 o1t 8,000 8,000 0
01 =Uoitl 8,000 8,000 0
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SN EELD
HE: SolAMe st
S SU2 MM RERE HA (5l &2
_ _ _ Muo
SN EB - SRA(3) - MRAY - BES 0 & 24 e HRE2
O B2, 5%, 5010 =&
20,0002 * 421 * 1002 8,000
01 YuBAZ 400 400 0
10 BAAHIZ A3 400 400 0
O B4, SHESO0F 520l DR
20,0002 * 209! 400
307 eI2tolH 12,000 0 12,000
EIEIETRNI=E S 12,000 0 12,000
O HYABMATHE T2 12,000
- HASZETY o HEsZ2H
2,000,0008 * 3744 6,000
- DI EF 2
6,000,0002 * 1744 6,000
402 QIR+ OIF 362,250 319,375 42,875
01 PANEDE 362,250 319,375 42,875
O SSHSTELUS I S X
400,000,008 * 1 * 50/100 200,000
O ZE, HESsEx 62,250
A= bY 182 * 5,000,00004 * 50/100 45,000
- BHEX 2321 * 1,500,00004 * 50/100 17,250
O BLHSHIIS X
2,000,00020 * 100CH * 50/100 100,000
S48 25280 690,000 360,000 330,000
= 207,000
Al 483,000
01 YsrBAZ 690,000 360,000 330,000
= 207,000
Al 483,000
2 JlE A= 690,000 360,000 330,000
O s424+225H X8
690,000,002 * 14 690,000
= 207,000
Al 483,000
S42 MIRSME LXK 1,895,000 2,687,300 A792,300
= 1,083,000
= 244,000
Al 568,000
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CHRI(BI) - MISAY - BIAS Ao giﬁgfﬁ HRS2

QI2FAFZ2 0l & 1,895,000 AT792,300
g 1,083,000
= 244,000
Al 568,000

A2 1,895,000 AT792,300

= MIIRSHEH HE

1,895,000,000& * 14 1,895,000
iy 1,083,000
o= 244,000
Al 568,000

| XI& 15,776 N56,625
J| 7,888
= 2,366
Al 5,522

QI2t X201 ™ 15,776 N56,625
J| 7,888
= 2,366
Al 5,522

2tAEE X 15,776 AN56,625
28 HY| XA 15,776,000 * 14! 15,776
J| 7,888
T 2,366
Al 5,522

AEIIS=E FHAY 1,351,000 1,351,000
g 965,000
= 193,000
Al 193,000

It X201 A 1,351,000 1,351,000
g 965,000
== 193,000
Al 193,000

PN 1,351,000 1,351,000

S ES(AMNEQ0)SAAY

420,000,000& * 14 420,000
g 300,000
= 60,000
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IO (B) - NRAIY - B2 Aol e
Al 60,000
O Ho=Ex HIFHAY
651,000,000& = 14 651,000
465,000
== 93,000
Al 93,000
O FgdHS2AR SHUHIAY
280,000,000& * 14 280,000
s 200,000
== 40,000
Al 40,000
SAH 870,000
& 291,900
Al 578,100
402 RIZ2HX =0l 870,000
= 291,900
Al 578,100
QIZIXIE2E X 870,000
O HUXZEZAIE XA
135,000,000& * 14! 135,000
== 19,500
Al 115,500
O NSEsE AKX 25,000,000& * 14 25,000
== 7,500
Al 17,500
O gox 2EE HIEXZ
20,000,000& * 14 20,000
= 6,000
Al 14,000
O W=+d=sot D32 s
150,000,000& 14 150,000
= 75,000
Al 75,000
O HAXEGH SXALS 28,000,000& * 14 28,000
& 8,400
Al 19,600
O DFIHUMAS 75,000,000& * 14 75,000
& 22,500
Al 52,500
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SN SELD
M sAM A3
Pl SA2 MM RERE A (ct9l:® e
SA-HH . C(B) - MRAY - BES 0f Ak o e HRE2
O DT M AR A
60,000,000& * 14l 60,000
= 18,000
Al 42,000
O W2RASI HeHFD XX
377,000,000& = 14! 377,000
= 135,000
Al 242,000
sIH SsX& 302,820 599, 150 N 296,330
= 120,666
Al 182,154
402 BIZ2HX =0l 302,820 597,400 A294,580
& 120,666
Al 182,154
01 QtR=8x 302,820 597,400 N 294,580
O Dt A0S0t SIIHX
150,000, 000& * 14! 150,000
= 75,000
Al 75,000
O Mo B2 48,600,000 * 14| 48,600
< 16,200
Al 32,400
O Z2J| FTE AL
18,000,000& * 14l 18,000
= 3,600
Al 14,400
O H=E=SAXIZIIXA 48,000,000& * 14l 48,000
= 14,400
Al 33,600
O HE2=SRMSIIXE 9,400,000& = 14l 9,400
= 2,820
Al 6,580
O EEH2EIIXA 2,250,000& = 14l 2,250
< 675
Al 1,575
O ol2im2As NSYUHI| N
6,250,000& » 14! 6,250
< 1,875
Al 4,375
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E47)
AW L
A2 MM RERE M

S - BB SR (B) - MRAY - BE S s oy e
O EdgE aZZ2etel X
9,000,000& = 14l 9,000
= 2,700
Al 6,300
O =524 XN& 10,000,000& = 1Al 10,000
< 3,000
Al 7,000
O 3d2JE HE=Hel 3=
1,320,000& * 14 1,320
= 39
Al 924
=5 TN ¥ ZHIHXRA 187,800 126,000
= 63,900
Al 123,900
402 QIEXE01M 187,800 126,000
= 63,900
Al 123,900
01 QtRi=8x 187,800 126,000
O =&8 ZZCOXC HLHIX&
6,000,000& = 14l 6,000
= 3,000
Al 3,000
O =Es=42 ZEHXE
180,000, 000& * 14! 180,000
= 60,000
Al 120,000
O =&s=42 221
1,800,000& * 14l 1,800
= 900
Al 900
sHtE FSHd 80,000 69,320
= 25,600
Al 54,400
201 LEH23H] 50,000 50,000
L= 15,000
Al 35,000
01 AtS2eld] 50,000 50,000
O Yer=gH| 50,000
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SH: sEAD
HE: SolAMe st
S SA2 MM RERE HA (5l &2
_ _ _ Muo
FAH-FH - SAEAH) - NRAIE - BES Ofl &K Ol At oH Hws2
- IRSUE =4 50,000,008 * 14] 50,000
= 15,000
Al 35,000
402 QIR+ OIF 30,000 19,320 10,680
= 10,600
Al 19,400
01 UANEDE 30,000 19,320 10,680
O B Sy X 2 16,000,008 * 14! 16,000
= 6,400
Al 9,600
O sS82 VEAY 14,000,0008 * 1A 14,000
= 4,200
Al 9,800
=00l =XEA 2,743,189 1,996,907 746,282
= 359,200
| 6,240
= 567, 120
= 687,750
Al 1,122,879
=00l HEX 2 74,000 68,000 6,000
202 OfHl 8,000 12,000 A4,000
01 =Lioit] 8,000 12,000 A4,000
O SYATAS SN =&
20,0002 * 491 * 1002 8,000
01 YuBAS 1,500 1,500 0
10 BAAHIZ A3 1,500 1,500 0
O =9#0l, 2= S2DS
50,0002 * 309 1,500
307 eI2H0lH 64,500 54,500 10,000
02 LABNBE 48,500 38,500 10,000
O =0I5l8E X2 8,000
- BYsFTNE 30,0002 * 1002l 3,000
- s HAAL 20,0002 * 100¢! 2,000
- =018 XofeH A 1,500,000 * 13l 1,500
- MRS AEAS 50,0008 * 309! 1,500
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S=43
s 23
sool =X

=] T X q
=L = HEAY - B2 Aol il ot o8 HRz2
O sg3gl 25,500
- S ™A 50,000& = 250¢! 12,500
-sgzgY 3,000,000& = 13 3,000
- SgUEEst 5,000,000& * 12 5,000
- OIS SANE BE(BSEUC)
5,000,000& * 12 5,000
O d=sgel & 15,000
- S 100,000& = 100¢! 10,000
- ol sl st
5,000,000& * 12 5,000
03 AHHMEXZ 16,000 16,000 0
O MES%0 2R0I=2=) ZHIMES
12,000,000& = 1EHA| 12,000
O Es1sE 4 =UHSHS
4,000,000& * 1EHAI 4,000
sXizel 13,050 9,250 3,800
201 Bt 2,400 0 2,400
01 At22t2id| 2,400 0 2,400
O «it=EH| 2,400
- SXNHS sXg WsuM
3,000 = 400& * 23 2,400
202 O 8,000 8,000 0
01 =LHAHI 8,000 8,000 0
O sAgd=g 28 X
20,000& = 4021 = 100 8,000
301 dE2a3 1,250 1,250 0
10 HALAHIZ4 1,250 1,250 0
O sXl2cel< 50,000& = 50! = 5& 1,250
405 KHAHRE SH 1,400 0 1,400
01 NMHEEHS 1,400 0 1,400
O sAg2+8 ddlHol&
400,000& * 1CH 400
O sAgR+dz 2 Jtillct 2
500,000& = 23] 1,000
sdo it sxt3 945,200 1,243,938 N208,738
= 567,120
s 189,040
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J2H

Al

189,040

HL

H

945,200
567,120
189,040
189,040

1,108,938

A163,738

o

X2 (X102

945,200,000& = 14

HI

H1

945,200

945,200
567,120
189,040
189,040

1,040,000

A 94,800

40

H

Al

127,199
38,160
89,039

129,780

A2,581

H

Al

127,199
38,160
89,039

129,780

A2,581

81,767,000& = 14

i

Al
45,432,000& 14

2l

127,199
127,199
81,767

24,530
57,237
45,432

13,630
31,802

129,780

N2,581

H

in

69,140
28,000
33,300

7,840

61,600

7,540

H

H

Al

69,140
28,000
33,300

7,840

61,600

7,540

o

69, 140,000& » 14

69, 140

69, 140

61,600

7,540

- 41 -




2N SEMD
o sAAW Y3t
o9l S0i0l 2XS (5l &2
SN HR L SR(3) - MRAY - BAS 0l & 24 e HlnE2
= 28,000
= 33,300
Al 7,840
sxzeRNE 2Y 15,600 15,600 0
| 6,240
Al 9,360
01 YBEHI 15,600 15,600 0
| 6,240
Al 9,360
12 JEeas 15,600 15,600 0
O sXBeRNE 28 15,600,008 * 14 15,600
| 6,240
Al 9,360
YRS 662,400 271,268 391,112
2 331,200
= 99,360
Al 231,840
01 YL 662,400 271,288 391,112
2 331,200
= 99,360
Al 231,840
IEEEEESE 662,400 271,288 391,112
O YROIYSH X2 662,400,008 * 14] 662,400
2 331,200
= 99,360
Al 231,840
S OHOIE AL FHHI K @ 24,000 67,200 43,200
= 6,000
Al 18,000
402 RIZEXHEOIH 24,000 67,200 43,200
= 6,000
Al 18,000
01 IAX=ELE 24,000 67,200 £43,200
O SOt EAIZEHIX
24,000,008 * 141 24,000
= 6,000
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S= 4
solAmel U3
=il =X EZ CLE-E)
CEB . CP(BH) - MRAY - A Aro CEE Hlm= 2
Ol &t o
Al 18,000
=00 XI& 12,600 12,600 0
& 1,890
Al 10,710
It Xt=01 ™ 12,600 12,600 0
& 1,890
Al 10,710
QIZtE2Ex 12,600 12,600 0
ste<0l XA 12,600,000& = 14 12,600
< 1,890
Al 10,710
X2 =5 800,000 0 800,000
= 320,000
Al 480,000
A& LS 800,000 0 800,000
& 320,000
Al 480,000
INE=]=] 800,000 0 800,000
SQISXIE T AS(HA, S, 24)
300,000,000& * 14! 300,000
= 120,000
Al 180,000
Hets2 sk Ax
300,000,000& * 14 300,000
= 120,000
Al 180,000
XASOI=N B A
200,000,000 = 14 200,000
< 80,000
Al 120,000
= 82 =i 367,800 355,050 12,750
= - Sits g8 367,800 355,050 12,750
22 A 49,300 16,050 33,250
AtS 2teltl 44,300 12,300 32,000
UBragY| 44,300
- SSd=E EEHA M
10,000& * 500 5,000
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SH: SEND
o SR A
CHel: sSaE B8 B (SHol &)
=] = W &NUE &
N-E3H - E2(3H) - MRAY - BdS Ofl &K Ol At oH Hws2
- AMKAE2s & sMESHAFE RS
A HEE A 70,000& * 209! 1,400
- SME HAHNEE SHIE MH
100,000& * 2004 20,000
- BHE0R SSM2 BEBEHMAL
1,000,000& * 53] 5,000
- MErSS F Ot 300,000& * 3CH 900
- Ot=S0H=H 5,000,000& * 13l 5,000
- OHHEI N ZEE S 7,000,000& = 12l 7,000
02 232934l 5,000 3,750 1,250
O ANEZEHIRXHI 5,000
- ot=1& EHO0IX 22
25,000,000& = 20/100 5,000
202 Odl 7,500 9,000 A 1,500
01 3UAHbI 7,500 9,000 A 1,500
O SSHE BSSUE 222 BIET
50,000& * 3¢ = 50 7,500
203 YRFLAH| 30,000 30,000 0
03 AIMZFAAHS =LY 30,000 30,000 0
O sSit2 Es2dE g8
30,000,000& * 14l 30,000
206 M=l 20,000 14,000 6,000
01 MZHl 20,000 14,000 6,000
O ot=1e & SEdEd s HNdEAMN 2
28 sSit=E 7Y 10,000,000& * 23l 20,000
307 glz2told 191,000 134,000 57,000
02 flztFaEx 91,000 34,000 57,000
O SS42 ZSZUCE BEX
6,000,000& = 32l 18,000
O B sSHX 20,000,000& * 13 20,000
O XNgHXZEUN S =229
3,000,000& = 13 3,000
O 20094 otH&E Zerets| &It
50,000,000& * 13 50,000
04 BCIZtHALE X 100,000 100,000 0
O sE¢42 stote 2&X
100,000, 000& = 13l 100,000
402 QIZEXE01H 70,000 72,000 A2,000
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SH: sEAD
Hal: sHAW s
o9l SSA2 28 2 (el &2
_ _ _ Muo
S HB . CA(BH) - MBAY - BES Ofl &+ 04 il b on Bz
R EEES 70,000 72,000 2,000
O HSABNY
87,500,0002! * 1Al % 80/100 70,000
D009 Ot AIE AT I A 4,849,350 485,500 4,363,850
= 700,000
Al 4,149,350
2009H YL AZANAT JiF| Y B2 649,350 134,550 514,800
201 Lsr2 | 577,850 53,550 524,300
01 At eldl 505,850 53,550 452,300
O yorsgYl 333,580
LIRS 50,000,000 * 14! 50,000
- BADIS SYNHE
30,000,000 * 14! 30,000
- AREEH 500,008 * 102 5,000
- E2 #a0 10,0002 * 504 5,000
S T PSSR 5,000,008 * 2% 10,000
- B BRI 5,000,002 * 47} 20,000
- 28 BURE S 7,000,0002 * 107} 70,000
- 29 OIE9E M 1,0002 * 20,0007 20,000
-8 BEA NE 1,0002 * 50,0000 50,000
SL=*-In =] 2,000,0008 * 103] 20,000
- WRAZAK HWE S BE
50,0008 * 4% * 102 6,000
- oMYA BT M 70,0008 * 1044 700
- EXNE YL DS EXE ME
250,0002 * 607 15,000
- HEHA O BXE R
96,0002 * 300} 2,880
- ZQCR HYEXE A
200,0008 * 60JH 12,000
- oER R 502 * 300,0000H 15,000
- el SI| 242
1,000,008 * 23] 2,000
O 294y 42,000
S (WO BYMENAT IR AS &
Mg 70,0002 * 500 * 43| 14,000
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JE
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el
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2
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12
o
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0l
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70,0008 * 1521 * 103 10,500
- YIRS BELY S
70,0008 * 1021 * 153 10,500
- 2SR By
70,0008 * 1021 * 103 7,000
O m=l 49,100
- AWAT AR 2=
10,0008 * 2191 * 13| 2,100
- AT ZAPAG 222
10,0002 * 809! * 13| 8,000
- HABAK 222
10,0008 * 30091 * 13| 3,000
- AT 22% 2822
20,0008 * 1,502 * 18] 30,000
- BARINEE 292
20,0002 * 3009l 6,000
O 2| 27,090
- AR Q 2R YREX
7,00020 * 2191 * 1502 22,050
- DEQUEAR 7,0002 * 12021 * 63l 5,040
O gxz 54,080
- SAD 2 ZelfHI|
220,0008 * 20H * 128 5,280
- 2AE WA ERB B4 UR
2,500,008 * 53l 12,500
- TRASA MO ARt
300,0008 * 1CH * 102 3,000
- OHiA BBHE L AN Y
130,000% * 10744 1,300
- 9ROl DA HAYT
400,002 * 204 * 102 8,000
- HEHA 28 A%
400,000%! * 6CH * 102 24,000
02 2T 6,000 0 6,000
O 2222 2 AAl 6,000
- MA B2 500,000% * 12942 6,000
03 A2 66,000 0 66,000
O 0-1002 JIE# A 10,000,0002 * 18l 10,000

O #AMEIIHLEH S) S4BLHEUHS
7,000,000& * 12 7,000
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SN SR

n
M AW A3
(¢]

[=N=] o

HPl0 2000F QR YA SAA L Y F EEEEED
= o S = 1G Xl_-ILjL:_ =
SA -3 - SRAZH) - MRAY - BES Off & 2K Ofl &F oA Blus

O gUAEdAT HUZLUA 95

30,000,000 * 13l 30,000
O AYUAZANAT SOX TR L 2-AHH
100,000 * 500! 5,000
O D-30Y J|EEHAHZZ=DAIMUE)
8,000,000 * 18] 8,000
O HAICIXIZ ALK Al
3,000,000 * 23] 6,000
202 O 31,500 7,200 24,300
01 =2LH0iYI 31,500 7,200 24,300
O YA FA 50,0002 * 2191 = 30 31,500
206 XH2Hl 5,000 0 5,000
01 XZ4 5,000 0 5,000
O ZOHHH THHH 100=ED1E AlTH
5,000,000 * 14l 5,000
301 LetEAS 35,000 1,800 33,200
10 SHALAHI 2 A 30,000 0 30,000
O XSAZSAEOX abl2a
10,0002 * 3002 » 10 30,000
12 JIEtB A2 5,000 1,800 3,200
O SZEZJAMUE A2 Y 24
100,00084 * 509! 5,000
2009 QUG Al Z AT X| 2 4,200,000 350,950 3,849,050
[= 700,000
Al 3,500,000
36 =2 4,200,000 30,000 4,170,000
[= 700,000
Al 3,500,000
01 =03 4,200,000 30,000 4,170,000
O HEAAT =0 4,200,000,0008 * 14l 4,200,000
[= 700,000
Al 3,500,000
FTAS 2™ &g 1,221,000 1,240,000 A 19,000
= 11,000
pJ 610,000
[= 180,000
Al 420,000
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SH: sEAD
= XH

M AW A5
9l FTALIS 222 28 (S92l
SA-HH . C(B) - MRAY - BES 0f Ak o4 gii HRE2
FTAAM R Al &l =8 2 22| X & 1,221,000 1,100,000 121,000
= 11,000
Il 610,000
& 180,000
A 420,000
201 ZEH2IH] 3,000 0 3,000
= 3,000
01 AtR2teld 3,000 0 3,000
O et~ 3,000
- FIAMZHEA 2 23N S ol
3,000,000& = 14 3,000
2 3,000
202 O4Hl 4,000 0 4,000
= 4,000
01 =LAl 4,000 0 4,000
O FIMIZEENGE & 25z
4,000,008 * 141 4,000
2 4,000
307 QIZt0IA 4,000 0 4,000
= 4,000
02 SIBNEX 4,000 0 4,000
O FTAMY sJt0i&E DS S
4,000,008 * 141 4,000
= 4,000
402 QIEE0IM 1,210,000 1,100,000 110,000
Il 610,000
= 180,000
Al 420,000
01 QUAR=2EX 1,210,000 1,100,000 110,000
O FINIZ HEEE ZESSH
605,000,000& * 14l 605,000
B 305,000
< 90,000
Al 210,000
O FTA)IZ #EoHl SESA
605,000,000& * 14l 605,000
B 305,000
= 90,000
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AN sFLD
HH: sHdZ Y 25
SRl FTAlS 23y &8 (&&=
SAN-ZH-SA(FH) - NRAY - BE=Z O AF oK gg;ﬁ; Hlw &2
Al 210,000
SaAFMA 25 11,062,841 9,978,923 1,083,918
= 6,753,417
s 77,500
| 26,250
L= 1,536,790
Al 2,668,884
Faolet =4 1,630,461 953,893 676,568
s 77,500
= 452,848
Al 1,100,113
Sy 3™ 2ot 66,630 88,400 A21,770
201 Lt 3| 2,630 2,000 630
01 At 2eld] 2,630 2,000 630
O get==ZH| 2,000
- 22 g% WA 100,000& = 200K 2,000
O =gl 630
- ST RET 7,000& = 391 » 30 630
202 O4dl 4,000 2,400 1,600
01 2UoItl 4,000 2,400 1,600
O S4oig R =&
20,000 * 401 * 50 4,000
307 glz2told 60,000 60,000 0
02 gltFaEx 60,000 60,000 0
O Y=sE20 X
75,000,000& * 2JH2 * 40/100 60,000
StMASH XS 125,800 198,550 AT2,750
= 35,805
Al 89,995
301 Lptsazg 31,750 15,000 16,750
= 7,050
Al 24,700
12 JIEI2 A3 31,750 15,000 16,750
O =He0lAX& 100,000& = 705 7,000
= 2,100
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SA: BEAT
B EMAM Usl
el EAD|E XA CELR-ED
SN - HE - BI(E) - A - BES 01l &t o S HmE2
Al 4,900
O aRR==HAXA 7,500& * 3,3005 24,750
= 4,950
Al 19,800
306 %= 5,600 8,000 A 2,400
L= 1,680
Al 3,920
01 &=¢3 5,600 8,000 2,400
O etRE0tX M AHE MK
20,000 * 5605 * 50/100 5,600
< 1,680
Al 3,920
307 QI2toIA 7,000 0 7,000
= 2,100
Al 4,900
02 2B X 7,000 0 7,000
O EHte s2Hd 20,000& * 3505 7,000
= 2,100
Al 4,900
402 QIZEXE0lM 81,450 175,550 294,100
& 24,975
Al 56,475
01 Q=8 =x 81,450 175,550 294,100
O BoRASUC A
80,000& * 1,650 = 50/100 66,000
< 19,800
Al 46,200
O JIEE+=Es HHIX&
1,500,000 * 6CH * 80/100 7,200
= 2,700
Al 4,500
O SOFXIHAGI A XI&
15,0002 * 1,10090 = 50/100 8,250
= 2,475
Al 5,775
LEsIIEY 310,850 339,495 A28,645
& 83,355
Al 227,495
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SN =D
H: BAAYY Y5
o9l EAD|U E4 (el &2)
SA-EH O (BI) - HRAY - BES Ofl AF o4 glggi; HRz2
402 SIZ2HX =0l 310,850 339,495 A28,645
& 83,355
Al 227,495
01 QtR=8=x 310,850 339,495 A28,645
O YESIH Moty 4
123,550,000& * 14 123,550
= 27,165
Al 96,385
O LESIHDEBAT
400,000& * 8205 = 50/100 164,000
= 49,200
Al 114,800
O SESIHINBSEREI AL
250,000 * 100JH = 50/100 12,500
= 3,750
Al 8,750
O RELAULT K
12,000& = 1,80008 * 50/100 10,800
= 3,240
Al 7,560
JIEt =SS dX& 76,956 93,180 AN16,224
= 21,114
Al 55,842
402 BIZ2HX =0l 76,956 93,180 216,224
& 21,114
Al 55,842
01 QtR=8=x 76,956 93,180 AN16,224
O g2=IsR
110,760,000& = 60/100 66,456
< 16,614
Al 49,842
O AssIHsER
5,000,000& * 3CH = 70/100 10,500
= 4,500
Al 6,000
LA IALE MAD|BEEH 888,725 32,768 855,957
< 285,674
Al 603,051
206 M= Hl 32,800 12,000 20,800
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S A
X XH .
(= I

chel:

Hb ot

=0
SPW 23
SIS

SN EH - BR(EH) - RN - BAS sl e HlRE2
206 M=dl S 9,840
Al 22,960
01 M=z 4l 32,800 12,000 20,800
O 2EAe|X ESH K&
80,000& * 41074 32,800
= 9,840
Al 22,960
402 QIEHE0IM 855,925 20,768 835,157
= 275,834
Al 580,091
01 QX=X 855,925 20,768 835, 157
O JE2ZAMZelX AEIXA
9,000,0002 * 1002 * 70/100 63,000
< 13,500
Al 49,500
O MEH=E SHUXE
151,850& = 1,170ha 177,665
< 43,650
Al 134,015
O AM=&= HIZUXA
320,360,000& * 14 320, 360
= 144,144
Al 176,216
O Z2ZAre|Xl HIEXI&
100,000& * 2,120& * 40/100 84,800
= 21,200
Al 63,600
O d=2els AMgelXl M8 X&
24,0004 * 1,650= 39,600
= 5,940
Al 33,660
O AMZHiIEDI XI&
20,000,000& * 8CH = 70/100 112,000
= 24,000
Al 88,000
O FLMAIEHE=E 2XE
900,000& = 130ha * 50/100 58,500
= 23,400
Al 35,100
EERSEE e PPN 38,000 0 38,000
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FAM: sS4
B EMAM Usl
el EAD|E XA CELR-ED
SN HH G (EH) - HBAY - B 01l &+ o8 S s
FERFHMUIA = 11,400
Al 26,600
402 QIZEXE01H 38,000 0 38,000
= 11,400
Al 26,600
01 QR=EX 38,000 0 38,000
O ZHSAIM HEAY
38,000,000& * 2J42 = 50/100 38,000
& 11,400
Al 26,600
SAMEIIANE K& 3,500 0 3,500
s 2,500
& 500
Al 500
402 QIZEXE0lH 3,500 0 3,500
s 2,500
& 500
Al 500
01 QtR=Ex 3,500 0 3,500
O stEIsAtY
5,000,000& * 14l = 70/100 3,500
2,500
= 500
Al 500
T ALZ AT B 120,000 150,000 230,000
s 75,000
& 15,000
Al 30,000
402 QIZEXE01H 120,000 150,000 A 30,000
s 75,000
& 15,000
Al 30,000
01 BIZEXI=22 =X 120,000 150,000 230,000
O TR ABMAK T4
120,000,000& 14! 120,000
s 75,000
= 15,000
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EAM: sS4t
B EMAM Usl
el EAD|E XA CELR-ED
SN (BH) - MEAY - BAS 0f Ao S HRZ2
Al 30,000
CHEFAMZ MMRS 45,434 60,484 A 15,050
= 13,630
Al 31,804
OlSEXAE S 45,434 39,584 5,850
& 13,630
Al 31,804
206 M= 45,434 39,584 5,850
= 13,630
Al 31,804
01 M EHl 45,434 39,584 5,850
O OtssEXAdE 2224 X
45,434,0002 * 14 45,434
== 13,630
Al 31,804
SAMEE A 8,237,800 8,223,600 14,200
= 6,518,700
== 792,730
Al 926,370
=25 HelAlE 109,000 203,000 A 94,000
= 65,400
= 13,080
Al 30,520
402 QIZHXE0| A 109,000 200,000 A 91,000
= 65,400
= 13,080
Al 30,520
01 QIZtX=2EXR 109,000 200,000 291,000
O HE2LHRANLT
43,600,000& « 50HA = 50/100 109,000
= 65,400
< 13,080
Al 30,520
IIEE5Z22HeAlE &X 7,806,000 7,814,000 A8,000
= 6,438,000
= 679,000
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FAM: sS4
DU =azu U
CHelr HAEE A (S 5=)
DA HEB L CR(B) - RAY - BES 01l &+ o8 S s
NEES3SHEAIE X Al 689,000
401 AIEHIZ=2OY] 7,806,000 7,814,000 28,000
= 6,438,000
= 679,000
Al 689,000
01 Al&HI 7,786,000 7,807,000 A21,000
O =23 2HelAd
7,776,000,0002 * 1744 7,776,000
= 6,438,000
& 679,000
Al 659,000
O X301 DIASOAIS (OIS XY HEAIA
g) 10,000,000& = 1JH A 10,000
03 AlZ=04d] 20,000 7,000 13,000
O N=2a33HelAE
20,000,000& = 1A 20,000
=S UES 200,800 81,600 119,200
= 15,300
= 67,650
Al 117,850
402 QIEXE01H 200,800 81,600 119,200
= 15,300
& 67,650
Al 117,850
01 QZEREEX 200,800 81,600 119,200
O HHIMEX N
17,000,000 = 3JHZA * 80/100 40,800
= 15,300
= 7,650
Al 17,850
O dHAEAZZXNSAXZ
200,000,000 = 1JHZA = 80/100 160,000
= 60,000
Al 100,000
=2 EHISIMSXR 122,000 125,000 23,000
& 33,000
Al 89,000
402 QIZHXE01H 122,000 125,000 A 3,000
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SN SELD
H: BA4AY Y5
Sl A R (S92l
_ _ _ Muo
SA-EH O (BI) - HRAY - BES Ofl AF o4 Sl ko HRz2
402 SI2EXt=01 & S 33,000
Al 89,000
01 QUAR=2EX 122,000 125,000 23,000
O SME (A HH) MY
5,0002 * 24,000kg * 60/100 72,000
= 18,000
Al 54,000
O THRe SHOISI| A
10,000,0002 * 10744 * 50/100 50,000
= 15,000
Al 35,000
FE=EM HARS 1,149,146 740,946 408,200
= 234,717
] 26,250
= 277,582
Al 610,597
NEHSH AEUE 37,700 18,800 18,900
201 Er23H] 4,500 13,200 A8,700
01 AtR2teld 4,500 13,200 A8,700
O gEt==ZH| 3,500
- SGIISFGY HYDSDY M
5,000& = 3008 1,500
- JlEEYY HYEEE ME
2,000& » 1,000% 2,000
O gxz 1,000
S OIEEYY LYUBMHE HSIH Y
Xt 500,000& = 23l 1,000
202 Oddl 4,000 1,600 2,400
01 3LUAHbI 4,000 1,600 2,400
O J=FYY HEYLEX
20,0003 * 4¢! » 50 4,000
206 = Hl 25,200 0 25,200
01 MZHl 25,200 0 25,200
O ZROIB2AT S ol
90& = 280,0000t2! 25,200
301 Lptsazg 4,000 4,000 0
12 JIEI2 A3 4,000 4,000 0
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FAM: sS4
HE: =NEMY U5
cHol: HEEN HHTE (crol a2
SN CR(B) - MEAY - BES 0] &k o8 Cl= HlmE2
0l &
O I=dgd 2d= EXel Xz st
24 400,000& * 103l 4,000
SsEE 2EAY 52,501 239,731 A 187,230
Il 26,250
= 7,875
Al 18,376
206 M=l 12,700 171,633 A 158,933
Il 6,350
= 1,905
Al 4,445
01 MZHl 12,700 171,633 A 158,933
O =LA MHZ bl 20,000& * 635kg 12,700
I 6,350
= 1,905
Al 4,445
301 YBtEa= 39,801 68,098 228,297
| 19,900
= 5,970
Al 13,931
12 J|IEI2 A3 39,801 68,098 A28,297
O J=gdBSYNHLY
132,670& = 1500 Bt » 203 39,801
Il 19,900
& 5,970
Al 13,931
SHYAXA 250,942 172,700 78,242
= 69,932
Al 181,010
206 M=l 250,942 62,000 188,942
L= 69,932
Al 181,010
01 MZHl 250,942 62,000 188,942
O AT LR2WAX
10& = 3,533,000 35,330
< 10,599
Al 24,731
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SN SELD
By SN 23
ol HEEL HATE (ct9l:® e
SH-EH . S2(3) - MBAY - B2 0f Ak o e HRE2
O HASedar Z2%A xd
8,000& * 8,200 65,600
= 16,400
Al 49,200
O &R BB X
93& =+ 1,350,000 125,550
= 36,818
Al 88,732
O 2 HZ& 52D olgsal X2
6,060& * 2,5005 15,150
= 3,788
Al 11,362
O 2 MBI olgeal X2
2,910&  3,2005 9,312
< 2,327
Al 6,985
DIEgige 423,753 21,415 402,338
2 234,717
= 79,230
A 109,806
206 THZHI 314,553 0 314,553
= 201,957
& 56,298
A 56,298
01 M4l 314,553 0 314,553
O =LA 314,553,000 * 14 314,553
= 201,957
= 56,298
Al 56,298
301 utEas 109,200 21,415 87,785
= 32,760
= 22,932
Al 53,508
12 JIEt2 &3 109,200 21,415 87,785
O 4+ 2242 WL
7,002 * 15,6005 109,200
2 3,760
= 22,932
Al 53,508
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FAM: sS4
HE: =NEMY U5
cHol: HEEN HHTE (crol: & 2)
SN CR(B) - MEAY - BES Arel e HlmE2
NSYAANLXA 122,900 116,700 6,200
& 41,600
Al 81,300
402 QIZEXE0lH 122,900 116,700 6,200
= 41,600
Al 81,300
01 BIZtXI=22 X 122,900 116,700 6,200
O SSAHHALX
27,000,000& = 3CH = 70/100 56,700
= 16,200
Al 40,500
O EANL2USASAENNH
10,000,000 = 5JHZA * 70/100 35,000
< 15,000
Al 20,000
O SIHERAMEXH
4,000,0002 = 13J44 * 60/100 31,200
< 10,400
Al 20,800
®mIls= MM XA 156,750 90,000 66,750
& 47,025
Al 109,725
307 QIZt0IA 156,750 90,000 66,750
= 47,025
Al 109,725
05 QIZtRE 3 156,750 90,000 66,750
O ®RIls=Hel 165,0002 * 9505 156,750
= 47,025
Al 109,725
I=ZEEUEXE 39,600 39,600 0
= 7,920
Al 31,680
301 Lptsazg 39,600 39,600 0
& 7,920
Al 31,680
12 JIEIEH3 39,600 39,600 0
O 249 Xl 550,0002! * 692! * 122 39,600
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2N SEMD
o HMAW Y3
Sel HEBLN TS (9l &3
SA- B O(3) - HIRAY - HES 0f Ak o4 gg;ﬁ; HRS2
= 7,920
Al 31,680
of o 24 2 0 2 65,000 16,000 49,000
= 24,000
A 41,000
206 &Yl 30,000 16,000 14,000
= 9,000
A 21,000
01 M=z 30,000 16,000 14,000
O AYNEHS YUY ASAZX
20,0002 * 1,500kg 30,000
= 9,000
Al 21,000
402 PIZHRIR0IH 35,000 0 35,000
= 15,000
A 20,000
01 CIAR=ELE 35,000 0 35,000
O M=t ASAE N
35,000,008 * 14! 35,000
= 15,000
Al 20,000
s34 X 5,260,459 4,034,352 1,226,107
| 219,625
= 1,946,128
A 3,094,706
S E 5,260,459 4,034,352 1,226,107
| 219,625
= 1,946,128
A 3,094,706
Sin= NI 4,946,709 3,654,799 1,291,910
= 1,906,909
A 3,039,800
201 sy 3,680 0 3,680
RS 3,680 0 3,680
O Yer4gH| 2,000
- 3D3A Y BSYE HIANE M
10,0008 * 2 * 1002 2,000
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SN SEND
Mo spIAl Kd
chel: stmZAl X CRE-E))
DA HEB L CR(B) - RAY - BES 01l &+ o8 ais s
Ofl &4 4
O 2g8=¢ 1,680
- SN2 NoTIAs BALY
70,000& * 12¢! * 23| 1,680
308 AHXIS XSO0l & 4,943,029 3,654,799 1,288,230
& 1,906,909
Al 3,036,120
06 wWHI|IZUUSEES 4,943,029 3,654,799 1,288,230
O stusa X 4,943,029,000& = 14 4,943,029
< 1,906,909
Al 3,036, 120
SISMEE e 313,750 379,553 A65,803
Il 219,625
& 39,219
Al 54,906
307 glz2told 313,750 379,553 A65,803
| 219,625
& 39,219
Al 54,906
02 QItFAE X 313,750 379,553 A 65,803
O guRz4 313,750,000& » 14 313,750
| 219,625
< 39,219
Al 54,906
HY 2G| (sS40 204,854 46,800 158,054
o2& | 175,304 18,600 156,704
el | 175,304 18,600 156,704
101 el t| 149,294 0 149,294
02 =% 139,394 0 139,3%
O AlZte2f¢
7,4573 x 67A12F » 3121 = 12&8 » 0.75 139,394
08 JIEIEE 9,900 0 9,900
O BoULoIN SAHS HS
400,000& * 20! = 123 9,600
O AN HRUS 300,000& = 1@l 300
203 HRF&H 7,410 4,200 3,210
04 RBEN2IYRFLAYI 7,410 4,200 3,210
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SN SELD
Ha: HH2AAH (ST
chel: ol 2| CEEED
_ _ MuE o
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
O SE4DH30AED) 355,008 * 128 4,260
O WYHAT XX SI25 (3001013}
350,008 * 9% 3,150
204 ML 18,600 14,400 4,200
IEEEEEESEL] 1,200 1,200 0
O = 10,0008 * 191 * 122 1,200
03 SHYAL+HSH| 17,400 13,200 4,200
O B sy 50,0008 * 2091 * 128 17,400
o= 29,550 28,200 1,350
= 29,550 28,200 1,350
201 er2g| 29,550 28,200 1,350
01 At 22l 18,750 21,800 3,050
O YosgY| 9,600
- ZABX S APEH 500,008 * 128 6,000
- MeIs2 12,0008 * 250 AF * 128 3,600
O 2| 3,150
- HOSH AT
7,000 * 45091 * 18] 3,150
O gxz 6,000
- =AY DRI 500,0002 * 122 6,000
02 2T 10,800 6,400 4,400
O 2222 2 AAl 1,800
- ®alea S 150,0002 * 122 1,800
O xEuey| 9,000
- RN S 3,000,0002 * 3CH 9,000
NEEEIECE ) 500,000 1,000,000 500,000
TES D 500,000 1,000,000 500,000
SYXEDZ My 500,000 1,000,000 500,000
702 J2FE3 500,000 1,000,000 500,000
01 JIZHES 500,000 1,000,000 500,000
O =9FEII3 X4 500,000,0002! * 14 500,000
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SN BENYD
Mmool me st
ol ARXE E4 el (25 & 2)
SNBSS - MRAY - BAS 0 & o4 e HIRZE2
DAY 14,348,868 11,311,286 3,037,562
= 2,682,202
= 441,600
= 1,262,676
Al 9,962,390
yABME 23 5,620,400 6,305,069 684,669
= 2,508,626
= 441,600
= 915,663
Al 1,664,511
sSExE E4 el 2,662,607 3,027,499 364,892
= 1,622,777
= 421,104
Al 618,726
SELIS YB3 30,000 20,000 10,000
307 BI2t0IH 30,000 20,000 10,000
00 LAANBE 30,000 20,000 10,000
O SEEXAE 30,000,0002! * 14 30,000
xg 586,598 518,007 68,501
=2 298, 122
= 85,377
Al 203,099
201 L2yl 8,000 6,500 1,500
= 1,159
= 252
Al 6,589
01 A2/t 8,000 6,500 1,500
O 2zl 6,000
- ASUMA FOT S
6,00020 * 1,0002! 6,000
O Ytz 2,000
- ZUB Q=4S 2,000,0008 * 141 2,000
2 1,159
= 252
Al 589
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SN BENYD
o

P e es =AY
el MRIE B4 B G
S HB SR (SH) - MSEAY - BAS 0fl AF 0 a4 HRSZ
= * T ° - == I w i e O = 0:”/.:"% Vso
202 04| 2,089 3,200 AT1,111
= 1,613
= 476
01 =ZWodb] 2,089 3,200 AT, 111
O ZEAIg(2LUR+2URZ2Y)
2,089,000& * 14 2,089
= 1,613
= 476
401 Al&ZHIELL20iH] 285,032 262,702 22,330
= 95,647
& 57,117
Al 132,268
01 Al&H| 273,908 251,942 21,966
O ZEAY & 7,398,000& * 14 7,398
2 5,894
= 752
Al 752
O 2R3 x2(8ha) 90,339,000& = 1A 90,339
= 45,919
== 13,327
Al 31,093
O 22U EE(18ha) 83,448,000& * 1A 83,448
2 20,862
= 18,775
Al 43,811
O ZEWAXHe2|(20nha)
18,034,000 * 14 18,034
= 14,026
= 1,203
Al 2,805
O HIZ2ZD](15ha) 2,648,000 * 14 2,648
= 2,059
= 177
Al 412
O d8l= =4 72,041,000& = 1A 72,041
o= 21,612
Al 50,429
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SN DD
B goidme Usl
ool aRITtE ZA el CLRE
DA HEB L CR(B) - RAY - BES 01l &+ o8 ais s
Ofl &4 4
02 Zeltl 9,124 8,260 864
O ZEAE Zel 9,124,000& = 14l 9,124
2 6.387
= 821
Al 1,916
03 AIZ=C0HHI 2,000 2,500 A500
O ZYAY(BUE o)
2,000,000& = 14 2,000
= 500
= 450
Al 1,050
402 QI2HXE=0|H 291,477 235,695 55,782
= 199,703
& 27,532
Al 64,242
01 QUAR=2EX 291,477 235,695 55,782
O ZEAY 291,477 ,000& * 14l 291,477
= 199,703
& 27,532
Al 64,242
E»/ L] 1,832,029 1,261,290 570,739
= 1,253,402
& 286,214
Al 292,413
101 el t| 28,713 35,202 26,489
= 17,228
= 3,445
Al 8,040
10 JIZAH22ASES 28,713 35,202 A6,489
O BT[LEIIRI| AP FAE
16,853,000& * 14l 16,853
= 10,112
& 2,022
Al 4,719
O S34HE 0| 5,660,000& » 14! 5,660
2 3,396
& 679
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SN BRAMYD
o oA We Yt
oo MR EH B2 (9l &3
SA-HH . C(B) - MRAY - BES Ofl AF o4 glggi; HRS2
Al 1,585
O MEHIOIQUA £F e
6,200,000& = 14l 6,200
= 3,720
= 744
Al 1,736
201 B2 I 26,330 6,680 19,650
= 14,538
= 2,908
Al 8,884
01 ARl 2,100 1,500 600
O =gl 2,100
- | 2 A HOK 24
6,000& * 350¢! 2,100
02 2294 24,230 5,180 19,050
O AlZZHI=Xltl 24,230
- TTHINRI FHIRK
8,000,000& = 14l 8,000
= 4,800
= 960
Al 2,240
- L0 QAL E B X
16,230,000& * 14l 16,230
= 9,738
= 1,948
Al 4,544
206 H=Hl 21,000 3,000 18,000
= 10,800
= 2,160
Al 8,040
01 M=ol 21,000 3,000 18,000
O =3I dALE Hl= 15,000& * 200% 3,000
O ZR&ENPI| =Y 8,000,008 * 14! 8,000
= 4,800
= 960
Al 2,240
O MZUIOIQ0HA FHBl 10,000,008 * 14 10,000
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SN BRAMYD
Mmool me st
el AETE EA ae (5l &2
SN EB - SRA(3) - MRAY - BES 0 & 24 e HRE2
= 5,000
= 1,200
Al 2,800
01 YprBAZ 13,600 6,080 7,520
= 11,520
= 624
Al 1,456
10 BAAUIZAS 13,600 6,080 7,520
O BTAYINP)| DEEY
4,320,008 * 141 4,320
2 4,320
O ZexHcd HXX 208
1,040,000 * 14 1,040
= 312
Al 728
O AZHINA DEEH|
8,240,0002 * 14! 8,240
2 7,200
= 312
Al 728
307 eI2tolH 423,273 240,444 182,829
= 253,963
= 50,793
Al 118,517
05 RIRSIE3 423,273 240, 444 182,829
O BTAYIIRII 160,156,008 * 14 160, 156
2 96,093
= 19,219
Al 44,844
O AZHIOIQUA &&E
263,117,008 * 14} 263, 117
2 157,870
= 31,574
Al 73,673
401 AlSHIL 2O 1,305,263 969,884 335,379
=2 937,043
= 224,622
Al 143,598
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SN BENYD
o

NI AN A3l
CHelr MBI T4 22 (e &A
A -3 -2 (3H) - NRAY - BEZ Ofl &F 2K glggi; Hlns2t
01 Al&t] 1,229,433 877,568 351,865
O £IbRI| AAIAH 104,431,000 * 14 104,431
= 70,781
< 16,825
Al 16,825
O =JRI| AF (715ha)
792,657,000 * 14| 792,657
= 639, 191
< 153,466
O ZEX BHIIIA 332,345,0002 * 14 332,345
= 184,808
< 44,261
Al 103,276
02 el 75,830 52,410 23,420
O =I1RJ| 22 75,830,000 * 14] 75,830
= 42,263
< 10,070
Al 23,497
405 RH&HE SHI 13,850 0 13,850
= 8,310
[ 1,662
Al 3,878
01 KALSEFSH 13,850 0 13,850
O £J1RJIg HUI(OIHS)
3,850,000 * 14| 3,850
= 2,310
< 462
Al 1,078
O LH2IHIOI QO A 2 F EF A
10,000,000 * 14] 10,000
= 6,000
< 1,200
Al 2,800
AEIXE MAD|BE X4 37,930 262,852 N224,922
= 19,723
< 5,473
Al 12,734
402 QIZER=0|H 37,930 262,852 N224,922
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SN BRAMYD
o oA We Yt
oo MR EH B2 (S5 &R)
SA- B O(3) - HIRAY - HES Ofl AF o4 giﬂgﬁ HRS2
402 PIZHRIRO0IH 2 19,723
& 5,473
Al 12,734
01 CIAR=EEE 37,930 262,852 ND24,922
O BEDHAIL 29,000,008 * 14! 29,000
2 14,500
= 4,350
Al 10, 150
O @ =22 3,100,008 * 14! 3,100
2 1,550
= 465
Al 1,085
O @ s 2,665,000 *14] 2,665
2 2,073
= 178
Al 414
O 2 MAZ|(10H) 3,165,008 * 14! 3,165
2 1,600
= 480
Al 1,085
YME REXIH 127,000 724,760 A597,760
2 46,000
= 23,000
Al 58,000
402 PIZEXIZ0IH 127,000 724,760 A597,760
2 46,000
= 23,000
Al 58,000
01 QIATEEE 127,000 724,760 A597,760
O YMSEFRMY N (Y, 55, ED)
1,00020 * 35,0004 35,000
O Aue HEAL 24,000,008 * 141 24,000
2 12,000
= 6,000
Al 6,000
O BERZ B0HX¥ 68,000,008 * 14! 68,000
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SM: BRAYD
Hal: eiPMe st
ol AERIR X4 2el (619 &2l
SN HR L SR(3) - MRAY - BAS 0l & 24 e HlnE2
2 34,000
= 17,000
Al 17,000
STHOIB IHEBXIH 8,100 8, 100 0
= 4,500
= 1,080
Al 2,520
402 QI2AT0IH 8,100 8,100 0
= 4,500
= 1,080
Al 2,520
01 ANZRLZE 8,100 8, 100 0
O s=2A8 2Y X 8,100,000 14} 8,100
2 4,500
= 1,080
Al 2,520
S HEA 1,080 1,400 AB70
=2 1,030
405 X+orE S| 1,030 1,400 AB70
= 1,030
01 KAUSEFSH] 1,030 1,400 A370
O SHeZ MaFY| 1,030,008 * 14! 1,030
2 1,080
FTACHE 242 ZR 235 39,920 192,000 ~152,080
= 19,960
Al 19,960
402 QATOIH 39,920 192,000 ~152,080
= 19,960
Al 19,960
NEESEEES 39,920 192,000 ~152,080
O HSHEAL 6,720,008 * 14! 6,720
= 3,360
Al 3,360
O S42a% A 24,000,008 * 14 24,000
= 12,000
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SN BRAMYD
HH: goHMe A5
ool aRITtE ZA el (el &2
SN HH . GR(E) - MBEAY - B Aro CEE Hlm= 2
Ol &t o
Al 12,000
O =& &l J| 2,000,000 * 14 2,000
= 1,000
Al 1,000
O BEIHA S48 7,200,000 = 14 7,200
< 3,600
Al 3,600
JIEHAIY BHE 1,447,917 1,502,346 AT4,429
= 625,625
s 441,600
= 215,288
Al 165,404
gFAFS 888,357 836,996 51,361
= 621,845
& 186,554
Al 79,958
401 A&HIZ20HYI 888,357 836,996 51,361
= 621,845
& 186,554
Al 79,958
01 Al&HI 865,127 817,292 47,835
O APZE AAIAH (3HA)
26,011,000& * 14 26,011
= 18,204
& 5,461
Al 2,346
O OFHIArE: AAIAH (0.5km)
3,247,0008 = 14 3,247
= 2,273
& 682
Al 292
O Are+EH(30HA) 718,196,000& * 14 718,196
= 502,737
& 150,821
Al 64,638
O OFH A AR (0. 5km) 89,673,000& * 1A 89,673
= 62,769
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SN BENYD
M2 ey me s
Sl ARIDIBIAIA BHE (5l &2
SNBSS - MRAY - BAS 0 & o4 e HIRZE2
= 8,832
Al 8,072
O s (4H2) 28,000,0002! * 14! 28,000
2 19,600
= 5,880
Al 2,520
02 el 18,928 16,034 2,804
O ArErel (30 4) 16,827,008 * 14 16,827
2 11,779
= 3,534
Al 1,514
O OF A AHE(0.5km) 2,101,008 * 141 2,101
2 1,471
= 441
Al 189
03 Al&=CHH] 4,302 3,670 632
O AHZALRI=E 3,823,0002 * 14 3,823
2 2,676
= 803
Al 344
O OFHAFSAIY = 479,008 * 14 479
2 336
= 100
Al 43
BIRE AR YN S 7,560 21,600 £ 14,040
= 3,780
= 1,134
Al 2,646
402 QIR+ OIF 7,560 21,600 A 14,040
= 3,780
= 1,134
Al 2,646
01 PRAEEE 7,560 21,600 A 14,040
O 8IRg A2Z Y= =4 (2000na)
7,560,0008 * 141 7,560
2 3,780
= 1,134
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SN BRAMYD
By oM A3t
9 AEDIBIAIE BHE (S5 &R)
SA-HH . C(B) - MRAY - BES Ofl AF o4 %ggi; HRE2
Al 2,646
A AE 552,000 663,750 A111,750
s 441,600
= 27,600
Al 82,800
101 el H] 18,300 20,650 A2,350
2 14,640
= 915
Al 2,745
10 JIZtH22AsSE=+ 18,300 20,650 22,350
O g&zed 18,300,000& * 14 18,300
14,640
= 915
Al 2,745
401 AIEHIZ RO 533,700 643, 100 A 109,400
s 426,960
= 26,685
Al 80,055
01 Al&HI 519,897 626,149 A 106,252
O YTAlE AAIEH(1.4kn)
8,948,000& * 14 8,948
s 7,159
[ 447
Al 1,342
O =X IHEF(4.0km) 8,433,000& » 14! 8,433
s 6,746
< 422
Al 1,265
O = alH(1.4km) 247,276,000& * 14 247,276
197,716
= 12,357
Al 37,203
O 2= E N2 (4.0kn)
232,740,000& * 14 232,740
[ 187,153
< 10,656
Al 34,931

- 73 -




SN BENYD
o

Mmool me st
Sl ARIDIBIAIA BHE (5l &2
_ _ _ Muo
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
O & 2% (5.0km) 22,500,008 * 14! 22,500
18,000
= 1,125
Al 3,375
02 Zzlbl 11,247 12,420 A1,173
O ST A& (1.4kn) 5,791,008 * 14! 5,791
2 4,632
= 290
Al 869
O 2E R EINE(4.0kn) 5,456,0002 * 14! 5,456
2 4,365
= 273
Al 818
03 AIE=0HHI 2,556 4,531 A1,975
O YTAYEZ 1,316,008 * 14 1,316
2 197
= 1,053
Al 66
O LERZNBAY X7
1,240,008 * 14! 1,240
992
= 62
Al 186
MY MEHEE B H 978,362 1,266,748 288,386
= 350,224
= 138,537
Al 489,601
NEED] 4,000 0 4,000
206 MRl 4,000 0 4,000
T 4,000 0 4,000
O MYHHE o 20,0002 * 150% 3,000
O MPEHETH(HAETT, LH=,IIE
ARES) 1,000,008 * 14] 1,000
=02 2el 173,130 188,742 £15,612
201 Lsr2y| 72,630 77,542 £4,912
01 ARzt 13,200 10,000 3,200
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SM: BRAYD
Mmool me sl
Sl AMRIMEHEY 2 X CEEED
_ _ _ Muo
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
SIEEEET 9,000
- HEYTSY 9,000
NEEIETTES L
10,0008 * 5007 5,000
QM U AAZNBS ERES
2,00020 * 2,000 4,000
O 2| 4,200
- AESNHH22X S
L0008 * 621 * 1002 4,200
00 IS 59,430 67,542 A8, 112
O 2222 % HA 2,730
- HEYUTEE SANY 01823
110,0008 * 15CH 1,650
- AEYUTREY 23
6,0002 * 15044 122 1,080
O AN&FHIRI 8,500
- A2 EEEY 22 500,008 * 7CH 3,500
- AFEASHHE B2l 2,500,0009 * 2CH 5,000
O Rrzred oty 48,200
- MR 4,000,0002 * 8CH 32,000
- NEFSE L MEHHBLRA RF
1,5008 * 154 * 90 * 8CH 16,200
202 Ofl 6,000 6,400 400
01 =Lioit] 6,000 6,400 A 400
O MEFE YRE
20,0008 * 501 * 52 128 6,000
206 Tl 9,000 4,800 4,200
T 9,000 4,800 4,200
O HELANRE RR(LEHI0I)
1,50020 * 504+ 1202 9,000
308 KHXISHHSOIH 80,000 100,000 20,000
05 XXCSHARLS 80,000 100,000 20,000
O &Il %t 80,000,008 * 14! 80,000
401 ANSHILLHY 4,500 0 4,500
01 Al 4,500 0 4,500
O MSAA ANASDSH(ARA)
4,500,008 * 14! 4,500
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SN DD
B goiAme ysl
Chol: MEMEEY 22X CRE-E))
S HEB .G (BH) - NBAY - BYS 0f Ao S HRZ2
405 KHaHE S H] 1,000 0 1,000
01 XML ESSFSHI 1,000 0 1,000
O MEEH =482 SZUAH(IEE)
1,000,000& = 1CH 1,000
AEYS 2A 217,113 85,999 131,114
= 111,649
L= 32,856
Al 72,608
101 214 d| 37,576 7,311 30,265
= 18,788
== 5,636
Al 13,152
10 JIZHZ22XNsSES 37,576 7,311 30,265
O dSYol =l & rct(200)
34,580,000& = 1A 34,580
= 17,290
o= 5,187
Al 12,103
O dUEE= 2,996,000 * 14 2,996
= 1,498
o= 449
Al 1,049
201 B2 A 5,600 0 5,600
= 2,800
= 840
Al 1,960
01 ArS2t2|t| 3,100 0 3,100
O Yx2 3,100
- SRR X 3,100,000& * 14 3,100
= 1,550
o= 465
Al 1,085
02 =224t 2,500 0 2,500
O o=H| 2,500
- 280 2,500,000 * 14 2,500
= 1,250
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SN BRAMYD
o oA W sl
ool MPMEEY 2H (9l &3
SA- B O(3) - HIRAY - HES Ofl AF o4 giﬂgﬁ HRS2
= 375
Al 875
206 TWEHI 3,528 0 3,528
2 1,764
= 529
Al 1,235
01 M=ol 3,528 0 3,528
O oM % T=l 3,528,008 * 141 3,528
2 1,764
= 529
Al 1,235
401 AlEHILL 0] 90,834 75,705 15,129
2 48,547
= 13,814
Al 28,473
01 AIZH] 90,834 75,705 15, 129
O £UST2l U2ZEAH(60na)
15,051,0008 * 14] 15,051
2 9,407
= 2,822
Al 2,822
O 82UYS NE4 oM A E(30na)
3,536,008 * 141 3,536
2 1,768
= 530
Al 1,238
O 22US UHYS S24 N &Z (50N
a) 5,888,008 * 14! 5,888
= 2,944
= 883
Al 2,061
O ZAt2l2 JHXIOFSS 91482H2 (50na)
60,116,008 * 141 60,116
2 30,058
= 9,017
Al 21,041
O AURTHASY 4D TASHH(3002)
6,243,008 * 141 6,243
2 4,370
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SN BRAMYD
o oA W sl
Sl AMRIMEHEY 2 X (9l &3
SA- B O(3) - HIRAY - HES Off &b o4 giﬂgﬁ; HRS2
= 562
Al 1,311
405 TrarFE S 79,575 2,700 76,875
2 39,750
= 12,087
Al 27,768
01 RHMUSEF =] 79,575 2,700 76,875
O YLSIM « THahZ |
70,000,0002! * 14! 70,000
2 35,000
= 10,500
Al 24,500
O BAHBHE L ASHH I
8,000,008 * 14! 8,000
2 4,000
= 1,200
Al 2,800
OR=EEF=5] 825,000 * 14! 825
= 375
= 225
Al 225
O JIHE 750,00021 * 141 750
= 375
= 112
Al 263
APMIA B 230,748 290,291 £59,543
2 140,217
= 27,314
Al 63,217
101 oIty 202,014 269,724 A47,710
2 134,666
= 26,204
Al 61, 144
10 JAMIENSE4 222,014 269,724 A47,710
O MBS B (1721)
187,000,0002 * 11 187,000
2 112,200
= 22,440
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SN BRAMYD
Hy: oM A3l
ool MPMEEY 2H (9l &3
SA-HH . C(B) - MRAY - BES 0f Ak o4 glggi; HRE2
Al 52,360
OWEBSH B&E= 21,019,000& » 14 21,019
= 12,611
= 2,522
Al 5,886
O MNFMEX SUHY R
13,995,000& * 14 13,995
= 9,855
< 1,242
Al 2,898
202 O4Hl 1,331 8,675 AT,344
= 1,109
& 222
01 SLHAHbI 1,331 8,675 NT,344
O MEESABA (LTRIEE)
1,331,000& = 1& 1,331
= 1,109
< 222
206 TH=Hl 4,080 0 4,080
2 2,448
= 490
Al 1,142
01 M=z 4l 4,080 0 4,080
OtEEsd AYs 4,080,000& = 14l 4,080
= 2,448
= 490
Al 1,142
301 etEa= 3,323 11,892 A8,569
= 1,994
= 398
Al 931
10 BAIAHIEAS 3,323 11,892 8,569
O MEESASAMLDS(1721)
2,800,000& * 14 2,800
= 1,680
= 336
Al 784
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SN BRAMYD
HH: goRMe A5l
el MEIMEEY 22X chol &2
SN CR(B) - MEAY - BES Arel B HlmE2
0l &
O MANNMEXNZLHE A 1R
523,00021 * 14] 523
= 314
= 62
Al 147
A Y XICHH 305,211 530,834 A225,623
= 98,358
= 63,920
Al 142,933
101 Q24| 261,814 409,300 AN 147,486
= 82,000
= 55,808
Al 124,006
10 JIZtHZ2Z2NSES 261,814 409,300 A 147,486
O =20 197,490,000& * 14! 197,490
= 78,960
= 35,532
Al 82,998
O W =&+ 250,000& * 14! 250
2 100
< 45
Al 105
O &2&2I1=s 56,724,000& * 14l 56,724
< 18,908
Al 37,816
O ost=& WA 7,350,000 = 14 7,350
= 2,940
= 1,323
Al 3,087
201 Lt 3| 5,000 13,400 28,400
= 2,000
= 900
Al 2,100
02 232944l 5,000 0 5,000
O A2 ZHlI=Xltl 5,000
S AL EIA=E 5,000,008 * 14] 5,000
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SN AR
ma: olome 2ty
CHol: MEIMEEE B CCRE
S E O (EH) - MBAY - B sy e RS2
= 2,000
= 900
Al 2,100
206 M=l 12,250 33,434 A21,184
= 3,900
= 2,505
Al 5,845
01 &l 12,250 33,434 A21,184
MRS AT
2,250,000& * 14 2,250
= 900
< 405
Al 945
MEZANZES 10,000,000& * 14 10,000
= 3,000
= 2,100
Al 4,900
302 Ol=ZLMol2&= 10,400 10,900 A500
= 4,160
& 1,872
Al 4,368
02 BIZ2olx 10,400 10,900 A500
MEX S =4 5,000,000& * 14 5,000
= 2,000
== 900
Al 2,100
MEAS =S 5,400,000& * 14 5,400
= 2,160
= qr2
Al 2,268
401 AEHIZR 4,247 52,000 AN47,753
= 1,698
= 765
Al 1,784
01 Al&Hl 4,247 52,000 AN4T7,753
O 2% 22 =4
4,247,0008 = 14 4,247
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S A
X XH .
(= I

chel:

> 09 0
0V 09 {0
0z 0¥ >
02 pu
oy &

0y wu

L for
e

SA - FHB . (SH) - MBEAY - BLS Ao giﬁgfﬁ HRS2

= 1,698
o= 765
Al 1,784

405 RAHAHF SHI 11,500 11,800 A 300
= 4,600
== 2,070
Al 4,830

01 11,500 11,800 A 300
8,000,000 = 14 8,000
= 3,200
& 1,440
Al 3,360
A MEEF 3,500,000 * 14 3,500
= 1,400
o= 630
Al 1,470

A E 48,160 64,000 AN 15,840
& 14,447
Al 33,713

405 X 48,160 64,000 A 15,840
== 14,447
Al 33,713

01 48,160 64,000 AN 15,840
520,000& * 14l 520
& 156
Al 364
845,000& * 14 845
o= 253
Al 592
5,600,000& * 14 5,600
== 1,680
Al 3,920
8,000,000& * 14 8,000
= 2,400
Al 5,600
5,195,000 * 14 5,195

-82 -




SN BENYD
Mmool me sl
Sl AMRIMEHEY 2 X (5l &2
_ _ _ Muo
SN - ZE - S2(BH) - NRAY - B2 Aboy e HIRZE2
= 1,558
Al 3,637
CIETIEIESTP] 28,000,0002! * 14! 28,000
< 8,400
Al 19,600
AN=XI22 &5 531,514 488,476 43,088
= 140,734
Al 390, 780
b2l AT 2 =Xl 62,400 132,100 269,700
101 oIty 10,400 20,000 A9,600
P EES = 10,400 20,000 9,600
O FA TP+ o =
4,000,008 * 13l 4,000
O JiLtel ¥ B ATK2e
3,200,0002 * 23| 6,400
206 T2l 2,000 1,500 500
01 Mzl 2,000 1,500 500
O FA 2 ADIS & XF42 HIZ
10,0002 * 200 2,000
401 AlSHIL 2O 50,000 110,600 60,600
01 Al&H] 50,000 110,000 160,000
O SIga pyaZA
5,000,008 * 19H4 5,000
O FA 2 AR % SVES
15,000,008 * 23| 30,000
O ®SXIFEH HLI2IATY
15,000,008 * 14} 15,000
=352 400,000 300,000 100,000
= 120,000
Al 280,000
202 Ofl 3,000 3,000 0
= 900
Al 2,100
01 =Loit] 3,000 3,000 0
O =52 3,000,008 * 11 3,000
= 90
Al 2,100
401 AlEHIL 20 397,000 297,000 100,000
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SN BRAMYD
HE: QoiRMe A5l
o9 SASXIB2 EHE (S5 &R)
SN CR(B) - MEAY - BES Arel B HlmE2
0l &
401 A& HIZ 20| = 119,100
Al 277,900
01 Al&HI 397,000 297,000 100,000
O E&a=201 AAIEH 9,000,000& = 14l 9,000
= 2,700
Al 6,300
O g&s5i=7l 388,000,000& * 14! 388,000
= 116,400
Al 271,600
25+ ZHXNA 69,114 56,376 12,738
& 20,734
Al 48,380
401 AIEHIZL RO 69,114 56,376 12,738
& 20,734
Al 48,380
01 A&l 69,114 56,376 12,738
O E2&u=2(XL0lg)(==2)
34,558,000& * 14l 34,558
= 10,367
Al 24,191
O Esa=8FH(XL0lIZ)(==2d)
34,556,000& * 14l 34,556
= 10,367
Al 24,189
= ¥ TAEE =4 8,565,677 4,951,377 3,614,300
= 83,576
= 347,013
Al 8,135,088
SASE =4 2 22 7,931,898 2,601,915 5,329,983
= 73,815
& 213,440
Al 7,644,643
S4&F2 FH| 200,000 0 200,000
401 AU =204 200,000 0 200,000
01 Al&HI 200,000 0 200,000
O ZFa sat2 Fhl 80,000,000& * 14l 80,000
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SN BN
Hu: 5 Z2 CABY XA
o9l SAZH EH L el (5l &2
_ _ _ Muo
SNBSS - MRAY - BAS 0 & o4 0l ot o HnE2
O H& saz ZY| 100,000,008 * 14] 100,000
O exa Saz Y| 20,000,0002! * 14! 20,000
ENE=E ] 2,310,469 1,998,450 312,019
101 2121t 12,000 13,680 A1,680
10 JIAMZ2HSES 12,000 13,680 A1,680
O TAZY MBUAHeIE
60,0002 * 121 * 2002 12,000
201 Lsr2 | 87,940 68,663 19,277
01 At 22l 4,800 3,204 1,596
O YergH| 4,800
- DAL GHBME 800,008 * 6)HA 4,800
2 ZZ2YH 83, 140 65,459 17,681
O 2ZR3 ¥ MAl 70,480
- DANEES OIS HABHD
400,008 * 1034 41,200
- ZBAMIIRZ 80,0008 * 18IHA * 128 17,280
- 4213 L 0B 223
10,0002 * 1044 * 122 12,000
O o2l 4,860
- BRI RF0
1,70020 * 3002 * 53] 2,550
- 4213 A uug
1,40020 * 154+ 1102 2,310
O AN&FHIRI 1,800
- ZRIHBZH S|
150,008 * 4% * 33l 1,800
O Rtz ety 6,000
- 3R JTRX 3,000,000% * 2CH 6,000
202 OiHl 4,000 0 4,000
01 =Lioit] 4,000 0 4,000
O BALLRFZ 20,0002 * 491 * 502 4,000
206 Tl 11,480 16,340 A4,860
L 1,480 16,340 4,860
O SANSLHAS 15,0008 * 200 3,000
O BAANLS AT 2 &
20,0002 * 115 « 108 23] 4,400
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z
o
=1

o
;

i

1 ir op
4K

>
0H
0

oy 1
=5
(0

A

o
1=l

Moz

_ _ MuE o
Ha - o2(3) - MRAY - BAS Abod e HlnE2
JASFA AT

50,0008 * 32 * 122 1,800
IRV MYI| =S
1,90020 * 10004 * 128 2,280
SRR 4,000 3,000 1,000
12 JIE2a3 4,000 3,000 1,000
TAVLIRYE JISNe 24
500,0008 * 221 1,000
IAMANY PHIE 500,008 * 69 3,000
Al HI 2 = Ch 2,191,049 1,891,127 299,922
Al bl 2,191,049 1,891,127 299,922
TRA=KI2AH =S
1,000,000,0002! * 14! 1,000,000
SAMBH SFY 24
80,000,000 * 14! 80,000
TAZE AES 24 (S0HH9)
50,0002 * 10304 * 122 85,400
DAY SAS BNBL(SIHH )
100,000,008 * 14} 100,000
22 JIEFBR =X2IBA
1,350 * 181,480m * 23l 489,99
O2I0IZE =X 22IBA
1,35020 * 98,300m 23| 265,653
DIEIZR JY| 70,000,000 * 14! 70,000

STt B Y 2 37,425 53,465 16,040
o121 bl 6,000 5,130 870

10 JI2M2E2NSE 6,000 5,130 870
EHSrai ol H R Brel ol

60,0001 * 121 * 1002 6,000
st e 5,100 1,500 3,600
AL 22l 1,500 1,500 0
SEIRS=1 1,500
- BRI EYY SREC
3002 * 5,00004 1,500
229yl 3,600 0 3,600
O 2223 2 WAl 3,600
- BRI EYY ®II23
100,008 * 32 + 128 3,600
NEEET] 26,325 42,835 £16,510
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SN AR
H: S B2 CABZ XA
o9 CAZE x4 U 22 (Cr9: @ e
SA BB S (B) - HNRAY - BAS Of o e Hlm =2
01 Al&HI 26,325 42,835 216,510
O EHSIAM A S 2 SR 2el S A
1,350& * 19,500m" * 13 26,325
ANHelSE IS 737,000 0 737,000
401 AEHIL RO 737,000 0 737,000
01 Al&H| 720,000 0 720,000
O HSESAF AAIEA 20,000,000& * 13 20,000
O YAFXERXNEZSL L F=Xtetel &X
100,000, 000& * 13l 100,000
O S32X dSEZA 600,000,000 * 13 600,000
02 &2l 12,000 0 12,000
O dEIZA 2l 12,000,000& * 13l 12,000
03 Al&Z=0Hd] 5,000 0 5,000
O A 5,000,000& * 1A 5,000
SAMERH S&Z FHI 61,120 0 61,120
= 18,336
= 12,835
Al 29,949
401 Al 4Bl =204 61,120 0 61,120
= 18,336
& 12,835
Al 29,949
01 Al&H| 61,120 0 61,120
O SAMERH S&2 FH|
61,120,000& = 14 61,120
= 18,336
= 12,835
Al 29,949
=L X ALA 29,200 0 29,200
= 20,440
= 2,628
Al 6,132
101 QIZH| 29,200 0 29,200
= 20,440
& 2,628
Al 6,132
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S ZRAZ
M 5 Z2 CAsE =4
CHel: SAIER X4 2 2 (&te @2
i} _ _ FSIER=
2N -3 -2 (SH) - NEAME - BHES 0f] AboH oﬁwa Hons2t
10 JIZH2Z2NEES 29,200 0 29,200
O =X AL (201) 29,200,000 * 14! 29,200
=2 20,440
[= 2,628
Al 6,132
AN ER EE 4,020,000 0 4,020,000
401 Al&HIL=20HY] 4,020,000 0 4,020,000
01 Al&H 4,000,000 0 4,000,000
O 2¢ EXNY(&H2I2H 5)
4,000,000,0008 * 14l 4,000,000
03 A&t 20,000 0 20,000
O Al&=0tl 20,000,000 * 14! 20,000
Z2AWSAE &X 475,000 0 475,000
[= 190,000
Al 285,000
401 Al&HI L2y 475,000 0 475,000
[~ 190,000
Al 285,000
01 Al&H 475,000 0 475,000
O #2218 02 HSAIE &X
125,000,000 » 14l 125,000
= 50,000
Al 75,000
O ME2= goiCtel XADA &I
250,000,000 * 14l 250,000
= 100,000
Al 150,000
O Z2M4& HSAIE &X
75,000,000 * 1Al 75,000
< 30,000
Al 45,000
O =Z1eX 2= &X
25,000,000 * 14! 25,000
= 10,000
Al 15,000
Aolse XA 27,684 0 27,684
= 18,039
[= 2,877
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SN DRMED
MM S T2 CAlBY X4
ool AR F4 2 22 (S92l
SN M. C(BH) - MEAR - HES O] &k o S HlmE2
NASAHEH Al 6,768
101 el t| 27,684 0 27,684
= 18,039
& 2,877
Al 6,768
10 JIZtHZ2Z2ASEs 27,684 0 27,684
O S&8 Hll&} 14,056,000 * 1¢! 14,056
= 9,862
& 1,242
Al 2,952
O =Mefaelel 13,628,000& = 1€l 13,628
= 8,177
& 1,635
Al 3,816
S A S AEHEAL 34,000 0 34,000
= 17,000
& 5,100
Al 11,900
207 AR 34,000 0 34,000
= 17,000
& 5,100
Al 11,900
01 &¢32E9H| 34,000 0 34,000
O S AEAEEA 34,000,000& * 14 34,000
2 7,000
& 5,100
Al 11,900
t28d &4 & 22l 633,779 2,349,462 A1,715,683
= 9,761
& 133,573
Al 490,445
ot =4 2 2 58,850 161,940 A 108,090
101 oIl 12,000 15,960 A 3,960
10 JIZtHZ22NSEs 12,000 15,960 A 3,960
O Jl24 ¥ ZAL2l0R
60,000& * 22! » 100 12,000
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SN BRMYD
a5 B2 CABY X4
o9l JIEEY X4 Y e (B9 @
_ _ HEC
SA - SRAEA) - MM - BES Off & K Ofl At ot Hws2
201 er2oty| 4,350 2,000 2,350
01 At 2el| 2,100 2,000 100
O gxz 2,100
- D24 DAFSHO DX
420,008 * 53| 2,100
02 ZZ2YH| 2,250 0 2,250
O ezl 2,250
- JtRSERARY JIHE 25
1,50020 * 104+ 1502 2,250
202 OiHl 6,000 6,000 0
01 =Uhord 6,000 6,000 0
O 2422l LREF
20,0002 * 501 « 53| * 122 6,000
206 THEb| 5,000 9,500 A4,500
01 M=zl 5,000 9,500 A4,500
O JN24BRANM(HIE, NESS)
10,0008 * 5002 5,000
301 YsPAS 2,500 4,000 A1,500
12 JlE2aa 2,500 4,000 A1,500
=NYIHY 2AXE 300,0008 * 59! 1,500
O Jt24 #&ADT B4 20,0008 * 50 1,000
401 AN&HILLHY 29,000 124,480 195,480
01 A&H] 29,000 124,480 95,480
O N2LHXIZY 29,000
- MeAISHXILY DR AF K|
145,002 * 100 * 13l 14,500
- WASDE JRLHX
145,002 * 503 * 23| 14,500
+2%8% 29 16,540 42,850 £26,310
101 Q124 7,200 8,550 A1,350
10 JIZHIZNS2S 7,200 8,550 21,350
O gazze oL 60,0008 * 201 * 602 7,200
201 er2o| 2,840 3,400 560
01 At 22l 840 1,400 560
O gxz 840
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SN BN
Hu: 5 Z2 CABY XA
o9l JI2EY £4 2 el (5l &2
_ _ _ Muo
SNBSS - MRAY - BAS 0 & o4 e HIRZE2
- 2R FU ZIY AR
420,008 * 2CH 840
0 ZZ=2YY 2,000 2,000 0
O AN&FHIRHI 2,000
- %R EY4 Zyze
200,00020 * 105 2,000
206 &I 6,500 9,700 A3,200
T 6,500 9,700 3,200
O Q22X 10,0002 * 4004 = 105 4,000
O gazme AEH L HMEH
10,0002 * 1008 * 23| 2,000
O s=UHIL 10,0008 * 5074 500
BRMN 23 72,150 150,854 AT78,704
101 oIty 23,400 35,979 ~12,579
B EENEEE 23,400 35,979 ~12,579
O 2% 24 % v
60,0002 * 291 * 1502 18,000
O ObMigt o =2F M4
60,0001 * 621 * 152 5,400
201 eyl 9,750 12,040 A2,290
02 ZZ=2YY| 9,750 12,040 A2,290
O ezl 6,750
- 20 X318 8088 YR
1,5002 * 4,500 ¢ 6,750
O N&BEISTLI 3,000
- 293 Asze 3,000,0008 * 1744 3,000
206 Tl 21,000 72,835 A51,835
01 W=t 21,000 72,835 A51,835
O CHaMOoIME E1 2 R
1008 * 50,0002 5,000
O 235 2 OFMES2 ALISEH Y
3,0002 * 1,000 3,000
O 2RY Z2ANM(NYET L AHS)
30,0002 * 105 * 103 3,000
O AKX ZZAl & 100,000 * 1007 10,000
401 AlSHIL 2O 18,000 30,000 ~12,000
01 Al 18,000 30,000 12,000
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SN BRAYD
M = B2 CABY X4
o9l JIEEY X4 Y e CEEED
_ _ SIEN
SAN-ZH-SA(FH) - NRAY - BE=Z Ofl &K Ofl At ot Hws2
O B22Fote~ HILnA 18,000
- NBER 8,000,0008 * 14! 8,000
- 4822F 10,000,0008 * 1A 10,000
A= BRI 13,943 0 13,943
=2 9,761
= 1,254
Al 2,928
101 Q1| 13,943 0 13,943
= 9,761
= 1,254
Al 2,928
10 JIZH2ZNEES 13,943 0 13,943
O SAI=T22lE 13,943,0002 * 1A 13,943
2 9,761
= 1,254
Al 2,928
2ETASFAY 471,096 830,500 359,404
= 131,959
Al 339,137
201 L2yl 1,200 500 700
01 At 2tel| 1,200 500 700
O Ys+gY| 1,000
- 223 EEX 2| 500,0008 * 23l 1,000
O gxz 200
- 223 2B BEX SUNNI LI
100,0002! * 23| 200
401 A&HILLHH 469,896 830,000 360, 104
= 131,959
Al 337,937
01 A& 469,896 830,000 360,104
O S0t D4 2DNEIES)|
60,000,008 * 14! 60,000
= 30,000
Al 30,000
O BABAY MFES 66,600,002 * 14] 66,600
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SN BN
Hu: 5 Z2 CABY XA
ool Jl2EY E4 L 2o 9l H
_ _ _ Muo
SNBSS - MRAY - BAS Aboy e HIRZE2
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< 68,659
Al 274,637
SBH2FI AKX 1,200 0 1,200
= 360
Al 840
201 Lpr2y| 1,200 0 1,200
= 360
Al 840
01 At 2ell 1,200 0 1,200
O YergH| 1,200
- IHETHISES 29
1,200,000 * 14 1,200
= 360
Al 840
HZE YL (BN D) 162,791 54,840 107,951
= 2| 140,311 38,840 101,471
ol 2| 140,311 13,800 126,511
101 Q12| 116,911 0 116,911
00 g 116,911 0 116,911
O ANZte2R4Y
745720 « 67TAI2F * 2601 * 128 * 0.75 116,911
203 AR=XY| 4,200 3,000 1,200
04 SNSYALETY| 4,200 3,000 1,200
O 223021015 350,0008 * 122 4,200
204 HEsAH| 19,200 10,800 8,400
NIEEEEEEY B 1,200 1,200 0
O 10,0008 * 19! * 128 1,200
03 SZYRLHBSH| 18,000 9,600 8,400
O welgsy| 50,0002 * 309! * 128 18,000
o= 2| 22,480 16,000 6,480
2 22,480 16,000 6,480
201 L2yl 22,480 9,600 12,880
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